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Instruction :-

(1)  All question are compulsory.

(1i1))  Questions No, 1 to 5 are objective type Questions Total 28 marks.

(ii1) Internal option are given in Questions No. 6 to 20

(1iv)  Questions No. 6 to 13 carry 2 marks and answer should be given
in 30 words.

(v)  Questions No. 14 to 17 are assigned 3 marks each and answer
should be given in 75 marks.

(vi)  Questions No. 18 are assigned 4 marks and answer should be
given in 120 words.



(vil) Questions No. 19 related to fill up the map of world is 5 marks in
the Questions.

(viii) Question No. 20 is related to fill up the map of India is 5 marks
in the Questions.
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Choose the correct option -

(i)  Who pronnded the redical thought ?
(a) Ratjel  (b) Marx



(c) Griffith Taylor (d) Blache

(i)  Which continent has the largest populated in the world ?
(a) Europe continent (b) Asia continent
(c) Africa continent (d) Australia continent
(i11)  Which one of the following is a tertiary activity ?
(a) Agriculture (b) Animal husbandry
(c) Business (d) Industry

(iv)  Which one of the following state attracts maximum number of
immigrants ?

(a) Europe continent  (b) Asia continent

(c) Africa continent  (d) Australia continent
(v)  Which one of the following is water resource ?

(a) Abiotie resource (b) Biotic resource

(c) Non renewable resource (d) Non circle resource
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Fill in the Blanks :-



(1)  Banda lives in the forestof ................. region of central India.

(1))  The age group of........ t0..eeeinns is the working population.
(i11) India has seen one of the.................. of W.T.O.

(6170 I are the most important compounds of a country.

(V) e pattern of rural settlement is visible in flat areas.
(vi) Brmhaour tribal Areaisin.......... district of Himachal Pradesh.
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Match the following :-

A B
(i) Lowest sex ratio in the world (1) Mediteramean sea
(ii) Collective Agriculture (2) Wheat
(iii) Grapes Agriculture (3) Coal
(iv) Food crop (4) Kolkhoz
(v) Conventional energy resources (5) United Arab Emirate

Je—4 U I A7 P qrag H IR [eTRgy —
(i) W= H feRmurd fhd geR =rd far Sirn g 2
(i) 2011 BT SIHTVET & AR WRA B STl fhal 8 ?
(iii) WRT & fHa 5T H BN ARl S _LAH ¢ |



(iv) S ATSH A1 grSIST H ol yeRal @& 9 & fHa gl 7
(v) T TSR B S arell B T Bl & ?
(vi) HBTR &I S=raer fobd= 8l 8 2

Answer 1s one word or one sentence :-

(1)  How is the sex ratio determined in India.

(1)  What is the population of India as per 2011 census.

(111) Which state of India India has the lowest female literacy.

(iv) What is the distance between the rail tracks in a broad gauge ?
(v)  What is sniffing agriculture called ?

(vi) What is the population of the metropolis ?

U -5 O /3 forlRey —

(i) ITITAT JATUD BT SR I © 2

(i) ST BT ST ST JMETaT & 7

(ili) MIR® TaTT & Fd I &RV BT & |

(iv) 9IRT &1 T Ugell ST 1881 5. H ¥~ gg ol ?

(v) IR HUTT & Icared H fIg # g W\ W B 7
(vi) 3 A TP SIF HAR BT AT § ?
Write true/false:-

(1)  Venezuela is a member of OPEC.

(11))  The capital of Ethiopia is Addis Ababa..

(ii1)) There are three strems under spale.

(iv) The entire first census of India was conducted in 1881 AD
(v)  India ranks first in the world in the production of cotton.
(vi) E. mail is a medium of mass communication.

U6 NToldl & IR AT Idl B gR¥reT forlRay |

Write the definition of human geography according to Ratzal.



317dT / or
AG I & &l IueEl & T ke ?
Write the name of two subfields of human geography.
TeT—7 TATE TYARYT A FEd B |
What are the nomadic hording feeder’s called.
31eqdT / Or
MRS qYUTe fh wed & ?
What is commercial animal husbandry ?
-8 IR FHfY 1 &7 faermarg ey |
Write any two characteristic of shifting agriculture.
37qdT / Or
MRS B A B < Reant ke |
Write any two characteristic of commercial agriculture.
UT—9 HY MeRT &Rl & a4 foiRay |
Name of the agro based industries.

31eqdT / Or

HER TN B By ol fayard o |

Write any two features of cottage industries.
UTT—10 HId ST bl TRHATT BT |
Define human settlement.

37efdT / Or

I @ Rgp ufawy o1 A 99183 |



Draw a linear pattern of the settlement.
Te—11. G 51f0% {5 wEd € ?
Who are the main worker’s ?
31eqdT / Or
ARG AIfDT BT Araid dait # wfiga S |
Classify Indian worker’s in to occupational cadre.
Te—12. N TR {59 wgd € 2
What id Garrision town called ?

37efdT / Or

YIMAh TRl & Dls qT IVl IRy |

Give any two examples of administrative cities.
UeT—13. UGY® Ud UgU H T 3R © ?
What is the difference between pollution and pollutant ?
31eqdT / Or
arg Yol & Plg & Wi oIl |
Write any two sources of air pollution.
UTT—14. ST IR0 DT GHIfdd HRA aTel i YNt dReb flRgg ?
Write three geographical factors affected population distribution ?
37efdT / Or

AT & JMUHY HRE foIRad (BTg < ) |

Write the deteriorating factors of migration. (any three)



Ued—15. oY U4 g&d ST H B oI SR [TRad |
Write any three difference between small and large scale industries.

37efdT / Or

qrrfie Ud fgdiae fhardma & B i Iiax forlRay |

Write any three difference between primary and secondary activities.

UI9—16. TTHIVT UG R GG § His o9 3ide forfRgy ?

Write any three difference between rural and urban population.
31eqdT / Or
Uar @ ArTfTd aiRem TR |
Write social results of migration.
ged—17. goR 9 FYJ ¥ Td HiY Iy Jef 4 H iR falkay ?
Write the difference between barren and waste land cultivable waste land.
37efdT / Or
Al Ud @NI% B Bdel | DIy A R ke |
Write any three difference between Rabi and Kharif crops.
TeT—18. SIART T 8% HHM &F &1 RHas W) a1 g9E sl oy ?
Write what was the impact on the irrigation of Indira Gandhi canal command area.
37efdT / Or
AR LT ST AT 2002 BT faegam forfRed |
Write the features of Indian national water policy 2002
yei—19. faeq & #AHfa d FefeRad gwisyd — 5
(i) =Trd



Show the following on the map of the world.

(1)  Norway

(i1)  Mediterranean Sea

(i11)  Australia

(iv) Pampas grass field

(v)  Major industrial region of the United State.

3feqaT / Or
(i) fE" 9gMR
(i) =goirevs
(iii) wex &
(iv) RiTTgR dexms
(v) T TER

(1)  Indian Ocean
(i1) Newzeeland
(i11) Ruhar area
(iv)  Singapore port
(v) Newyork City

JI9—20.. YR & A § fA=ferRad o goisy —



(iv) 999 918 IED Y

(v) TRT BT FATEd STHEEIT dTedT oY

Show the following on the map of India.

(vi) Delhi

(vil) Arabian Sea

(viii) Kerala

(ixX) Main tea producing state

(x) Most population state of India

31eqdT / Or

(i) BT AFTYR BT TSR

(if) g

(iii) PITPIAT TS
(iv) fasR

(v) 99Tt D1 @rel

(vi) Chhota Nagpur plateau
(vil) Mumbai

(viii) Kolkata port

(ix) Bihar

(x) Bay of Bengal



